Model No.JV001G CORDLESS JIG SAW

m_ﬁ,wwg 0000

"l

O —
-

< N O O~
< <~ < <

7
o=yl




Model No.JV001G CORDLESS JIG SAW

Ad
;ialal sKkatudou Aasune Ll:fsflﬂ dudu ::U a ;cés;m (T sB-l)mﬁa(TH kg 1 KUBLKQ 2

Jasu
001 |183W95.7 HOUSING SET 1
C10 |263005.3 aango 6 2
C20 |8066F9.6 SWITCH LABEL 2
D10 INC. 57
002 |620388.0 AdUAU 1 :
002-1 |620P44.6 CONTROLLER < 1
003 |652069.6 anskouuu M3X6 3
004 |632P65.6 ghathdoans 1
005 |266490-9 ansindgdUdauranauyu 2X6 3
006 |858U20.2 JV001G SERIAL NO. LABEL 1
007 |629B64.3 Aa008 1
008 |210039.7 UaauU3p 695DDW 1
009 |519769.0 ROTOR ASS'Y 1
D10 INC. 8,10
010 |210059-1 uauuZy 6000DDW 1
011 (1421116 yasoudalAus 1
C10 |263002.9 agne 4 1
012 |252171.1 Goazik3ou M5.8 1
013 |286032.3 Wida 5 1
014 |233139.6 ausona 3 1
015 [272280.0 AutvAu 17 1
016 |961018-5 ukdukga (@uuan) E-5 1
017 |[268063-4 a3n 4 1
018 |[1421108 yadsav 1
019 |442195.7 Usifu 1
020 |253196.8 wKOUSLU: 6 1
021 |346688.5 uwWuna 1
022 |454484.8 uWuwanga 1
023 |313260-8 uugavauqasd 1
024 |142109.3 yasouWavIAes 1
025 [212092.9 adugnduidu 407 1
026 |253715.0 uKdUSUU: 6 1
027 |961002.0 uxkdudon (uon) S-6 1
028 |310837-0 alad 1
029 |961017-7 ukdoukga (Guuan) E-3 1
030 [268090-1 aanuuwuuiK 4 1
031 [232207-2 UKUU 1
032 |9111115 anskonauyu M4X10 W 4
033 |214031.5 aauandunulwih 4 1
034 [256117-9 aan 4 1
035 |347B50.9 LINEAR GUIDE 1
036 |141R27.0 GEAR HOUSING COVER COMPL 1

ETE

037 [266034.5 anstndgoUdogkouan 4X16 4




038 911104.2 anskonauyu M4X6 WG

038.1 |265132.2 anskanauyu M4X5

039 |326302-9 adakwAuAaY

040 620J89-8 guaAuasad

041 231659-4 ausvda 6

042 |454483.0 aalrovio

043 |265026-1 anskonauyuuuudur M4

044  |267854.0 ukdusavsudde 8

045 |[421815.6 BaAunu 8

046  |267854.0 uKdousavsUdde 8

047 257347.5 uKou 21

048 4245694 mnsauﬁup]‘u

049  [962063-3 ukdudon (lu) nau R-13

050 165724.6 audu

051 256528.8 aan 2

052 233314.4 adsona 4

053 310485.5 dandon

054 |233501.8 aUsvda 10

055 310547-9 THialuldoy

056 135602-4 yausznaumu

D10 INC. 48.55

057 183W95.7 HOUSING SET

C10 |263005.3 aaneo 6

Cc20 8066F9-6 SWITCH LABEL

D10 INC. 1

058  [265995.6 anstndgoudaskouan 4X18

059 312D19.4 BASE

060 232208.0 LLKUU

061 |345237.5 unuwanunduu

062 |347A23.6 wWuwangu

063 [265085.5 anskolawas M4axs

064 1922231.0 aanindedkdGondknikdey M5X20
W

065 858U14.7 JV001G NAME PLATE

A02 413J99.0 UWNUWIASDU

A03  |415524.7 A EEMEDL!

A04 | 783202.0 Uszunknlkdeu 4

AO05 A-85737 JIGSAW BLADE NO.B22

A06 A-85628 JIGSAW BLADE NO.B10

AO07 A-85793 JIGSAW BLADE NO.BR13

FO1 |194416.0 gauwu 10000

FO2 |194417.8 yausugw 10000

FO3 [194418.6 yaunudukuv 1400

FO4 |194910.2 yauwuduwkuv 1900

ASEUISEYSKaGUdIULIDAVED

W

V]

W

9]

u

n

17/06/2567



